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Rajasthan Pashu Parichar Question Paper 1 Dec 2024 2nd Shift

Which of the fnllm\mf.. met

Kept on a palm duc 1o its low
Choose the

al melis even when
melting point?

most appropriate answer from the
options given below:

(A)  Magnesium (B) Mercury
(C) Calcium (D) Gallium
(E) Qucmo{; :;;l:qqucmpud

=) -1 91 UGEIET
m@ﬁwmmﬁhﬂﬁgﬂw i
ﬁﬁrﬁ?ﬁ:ﬁﬁaﬁﬁ%mﬂ&smm?ﬁ:
(A)  Aefifiray (B) 9T (e
(C) fewam (D) AfEay

(E)  argafed wer

Which of the following is the most ductile metal?

Choose the mosr appropriate answer from the
options given below:

(A)  Silver (B) Gold

(C) Copper ' (D)  Aluminium

(E)  Question not attempted
Frafefas & & - vatfos o= o 27
ﬁw%ﬁaaﬁm?tmaaﬂmmmm
(A) =fEr (B) €M

(C) wiar (D) gt

(E) it war

Which of the following statements is incorrect?

Choose the most appropriate answer from the

oplions given below:

(A) Sodium and potassium are soft metals and
they can be easily cut with a knife.

(B) lodine is a non-metal but it is lustrous.

(C) Mercury is a metal which is liquid at room
temperature.

(D) Graphiteisametal whichisabad conductor
of electricity.
Quesl:on not attempted

ﬁm’r“@rﬁaﬁ I § 1997 FA T 87

frafafiaa faeredt 9 @ Aaifirs I9gw I

(A) wifeaT ofn dRfiem T gy # Sit T
ST | =T € Fhrer S A B

(B) TETEH TF HUTq & Sifh a8 Iwehtell €t
2l

(C) 9T U UHT uTq & S HC & AT9HE WA
FEEAT | B 21

(D) IEIEE O THT arg & S frgd i FEeE
Bt 2l

(B) 37gara ¥

orQ-x12] ]
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Where is the Ramsagar witdlifi sanciuary locsteg
cre i

in Rajasthan?

most appmpnme answer from the
c

Choose th

options given below: .

(A) Churu (B) Ajymer

(C) Bundi (p) Dholpur

ted

I Question nol attemp
;n{qm'-' g AIATTA A § FE = 8
fr=fafaa ﬁquﬂ:nfwm:w-ﬂ
(A) = (B) AT

() ;:‘f (D) =Y
(E) wgafe s

Which of the following statements is not correct

about the Palash forest in Rajasthan?

Choose the most appropriate answer from the |

options given below:

(A) These forests are spread in Alwar, Ajmer,
Sirohi, Udaipur, Pali and Chittorgarh
regions.

(B) These forests are sub-types of tropical/dry
deciduous forests.

(C) These forests are spread in those areas
where the surface is stony and hard.

(D) These forests are found only in plateau
region of Rajasthan.

(E) Question not attempted

TSI | qeTer 99 % 2 § gy § § $H-ar&aq

wET TE 27

Prefifias et § & warifera sage ST

(A) FET ITeay, e, Fdret, Ieay, wet 3
faiteTg &t 5 a8

(B) ¥® a7 IwrHdram ool @A &
I9-IHR

(C) & a7 37 851 o %y & et guwel #eR d

e Bl

(D) & T USEAT I Frerey yardy &y 5 97 91 &

(E) oTgaita wer
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Whi i

1'thh of: the following regions receives the

C1‘|ghcsl rainfall in Rajasthan? _
h(_)ose t‘.!u: most appropriate answer

options given below:

(é) Na:gaur (B) p~Bikaner
(C)  Rajsamand (D) ».Churu
(E) Ql.f_estion not altemp%

umgnﬁnqﬁﬁq.gz\ e T T S —

=hidl 87
Frafefas eig gy wﬂf@’mmm?ﬂ
(A) =R Byt = =
(C) TSwhHE (D) O

(E) gwfa ux o

In Rajasthan on which river is the Gandhi Sagar
Dam located? M~ )
C h?ose the mosr appropriafe answer from the
options given below: C_":

(A) Chambal (B) C\Nantha

(C) Saraswati (D) \Banas

(E) Question not attemple,

TSTEAT | Tl 6L sy g, 4 ue feera 22
Felofea T g IUgE IaTEA:

from the

(A) Sua ®) i
(C) STt D) ="
(E) STiaws ™~

According to the NationalCResearch Centre for

Camels, in the camel hedllh and management

calendar, which of the fgllpwing activities is

proposed for the month of August?

Choose the most appropriate answer from the

options given below:

(A) Soil management f shelters and
numbering of camels for identification.

(B) Hair trimming, vaccination and spray of
chemicals.

[‘*\.
of Eagmel

(C) Investigation sample for
endoparasites trypangspme. o
(D) Vaccination and rrLeqication for killing

endoparasites.
(E) guestiqn not attempie . ;
RaﬂWﬁ%}FQE fiks S F T A

T et § 3TRT AT frefafEa 7 &
ﬁﬂ-ﬁnﬁﬁﬁmﬁaaﬁﬁaﬁ?

(A)

(©) A= 3T for e 3 A <A
=i
ST N

@ A o

orQ-x121 7]
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§

Which of the following are the internal parasites

in farm animals?

a. Round-worms  b. Fleas

c. Tapeworm d. [~Mites

e.  Coccidia 5

Choose the most apprﬂp.i{r'}e answer from the
options given below: g;

(A) candconly o

(B) a,candeconly ("i
(C) b,canddonly
(D) a,banddonly

(E) Question not attempted

ﬁnﬁﬁﬁﬁﬁmﬁmé@ﬁ%mqﬁﬁ
3

® 5

a. T‘I'T?«I'Efﬁl' b. {-\m
e N
e.  chieEITEAT od

$13 firw e forsredt & & waffeies 3ugw SO gA:
(A) Fadcaite

(B) acia,c3ie

(C) Fawbcaftd 4

(D) FaeTa, b3iNd g“:
(E) SAaiayd o
LY

The common drug for the tfedtment of coccidiosis
‘ . o

in cattle is:

Choose the most appropriate answer from the
options given below:

(A) Dopsone g

(B) Chloroquine o

(C) Gentamycin &

(D) Kanamycin &

(E) Question not altemp%}j

it & SrdfsRE 3 Sw=r % R wmE
ftafer &:

frfftaa freedl 3 & watfire sogem sac Ty
(A) TEH o

o -
(B) FEREEA o
(C) S=miERE o™
(D) AT o

" C\.-.J
:'Hﬂaltﬂ T
) Qo
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Mareh List-1 with Listell
Lt Ll
(Type ol Fort D) (Ve of ot D)

a. Dhanvan Dy L Rl 1wt
B Van Dag W Chaw Vit
N Alran Pon WL Niwana Pt

B Pankh D IV daisaler Bad
ESIRERIEENRIERERRIEERIRTE

-1 RURT

(R = v R Wy oy
. wmR g LT e
b Ssgl ) W Ng R
o Ty m R
d. i (AN EC R R RN

Choase the mayt appropriate answer o e
Options piven below:

9 o e @ Wi Foge an
() a-IVibelle-1mLg-1

B) a-lMLboneav g

@ a-Lb e Mday

DY a~Ivib-me-n, d-1

(E)  Question not attempted Gﬁﬂﬂt‘l“ﬂ

Who travelled through the villages of Ruiasthan

and started his series *Mein Deklua Chala Gaya®
based on the rural lite and society ol Ragasthany
Choose the maost appropriate answer v the
options piven below:

(A)  Jagjit Singh

(B)  Karpur Chand Kulish

(C)  Pu Vishwa Mohan Bhat

(D) Dr. P.K. Scthi

(E)  Question not attempted

e Trorert 5 i w wwer R var W;
Trtor S e wmr ww smafa ster o Yoo
e T 3w fn

Fr=fafum frae 3 q wuHirm Jogw ueg;
(A) Sl fiiw

@) TR

(C) d. Runiw vy

(D) S ¥ dH

(E) Srqafw wi

ore-xiz] [T

R

(B

L1}

1949, who bevame the ("Itlul' Mintstor o y
Cleaten Lo of (T IRLTIY

Chioese e ey u;lmwu'hm' wnawer oy, e
WPty given below: |

Y Bhashan (Y Sewn R

(Y Wi Lal Stastt () Shabba Ry

(Y Questivn not attempted

1040 D) it QIR A A ) o apy
Pralfa Rae 1 Q) W”"’Tﬁwwumw‘g:
[ENILERINE (I Aaruw

WY Aueie il (1 vy

() atuia uw

A sum o T S000 s invested on compon
terest e 3 vears, 1 the rate of interest for three
Suevessive years ae 1%, 8% and §% per
vespectively, thew what will it amount to?
T 18000 50wl 3 ant & R wTeRg R =
B 0 el &1 4R s 3 ant v =rr 2
FEHRE 0%, 890 301 $9G WYl ), o o it ik
RILEUNEETRATIN

) TInTI (1 T 18920

(T axon (M T 8582

(D Question not attempted / Sl v

i\nnum

What is the compound interest on T 15,625 for 9
monthsat |60, perannum componnded quarterly?
T 15628 W 16%% Ryt o) o3 2 Rt ommm
AR WA v Ry W o e % Rre R
LN

A\ Tes () T o6l

(€ Taxel (M T

(B Question no wtempled / OEI“mT w

On compomud interest a certain sum inereases by
TO28% in 2 years, The ete o interest per annum
in .

xRy R s v s MR ul 2 and ¥ 10.28% g
reft i vy el v o) v

(A\) 6N (8

&) T L (S -
:Ii) Question not nuvmpmlfﬁlﬂﬂnﬂm‘ | L
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The monthly incomes of A and B arc in the ratio

4:3 and their monthly expenses are in the rtio

3:2. If each saves T SO0 per month. then what is
the sum of their monthly incomes?

A 30 B i wiftrs 3 w7 35w 402 & ok I
STies TS & SFET 3:2 {1 9% weldw =1fw T 800
STASTE =TaT B, W 3T TR 51T 5 g
(A) T R1,000 (B) T 96.000

(Cy 48000 (DY T 56.000

(E)  Question not attempted / 3 H

Which type of forests arc regarded as most
valuable as far as the consenvation of forest and
wildlife resources are concerned?

Choose the most appropriate answer from the
options given below:

(A)

(B) General forests

Reserved forests

(C) Protected forests
(D)
(E) Question not antempted

T ST STt SIS STl & g O ey ®
T3 =1 e GeadT B T4 87

Fretad fawedl §  @aiies 303 a9
(A) i = (o= Hie2)

(B) W= EA

(C) Ea T7 (IzaeE Fie2)

(D) FrEifiga=d

(E) i@ ya

Unclassed forests

Sariska Wildlife Sanctuary is situated in:
(A) Kerala (B) Rajasthan
(C) WestBengal (D) Assam

(E) Question not attempted

qfeet a=aeia snaned fed &

(A) FTaH (B) UM H
(c) dEm@maH (D) sraq |

(E) Fgaf@sd

orQ-x121 7]
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Which physiographic region of Rajasthan is
known as the ‘Tladoti Platean®?

Choose the most appropriate answer from the
options given below:

(A)  South-Eastern Platcau region

(B)  Semi-Arid region

(C)  Aravalli region

(D) Eastern Plain region

(E) Question not attempted

ToTeT AT M A e & e
w9 T AET AT ’?

Frfean et & & wraffres I9gw 30 T:
(A)  fRor.gEt ger &

(B) -y &
(C) yUaet &=
(D) O BT &
(E) i g

The *Plain of Chhapan" is located in which of the
following physiographic regions of Rajasthan?
Choose the most apprepriate answer from the
options given below:

(A) Eastern Plain region

(B) Western Desert region

(C) Aravalli region

(D) South-Enstern Plateau region

(E) Question not attempted

oo & few o & fFefafea § | e
imiiferes & o feera &2

Frerferfiae foraredi 3 & Wt Jugw I

(A) T AR &
(B) ufirdt meeyea &=
(C) Uae &8

(D)  afdor.qdf vardt &
(E) iqgufta w&
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Which of the following stntements is not correct

about the desert sail in Rojusthan?

Choose the most approprigte nnswer from the

options piven be oy

(AY  Mlncksin -."n;lilil_\' and Keeps more solinity.

() lrean l'Il‘lHlll’bl and hold the waler mueh.

(C)  This soil igdisplaced by winds,

(M

()  Question 1ll1lpallc111|1lct| -

v 3 el g ¥ e i Frefaf A A

RF-a1 @A T A

s fawed) § A waifas sugw ST T

(A) mﬁaﬂm%ﬁ!mﬂwmmﬁmﬁﬂﬁl

(3) a7 e T T A R
"l U (:‘I

©) wqmm%immmﬁﬁrﬁ?ﬁm

(D) = e wierd Ao 3 ard sl 1

(B) STgai@ Wy
-

Goitre is caused duc to the deficiency of this
clement in our diel;,

This soil i found in western Rujasihnn.

Choose the mos{, gipprnprinrc answer from the
options given beloy:
(A) Calcium ¢y (B) Sodium
(Cy Iron ¢ (D) lodine
(E) Question riptdattempted
mm)gqﬁmﬁwaﬁaﬁw%m
T & «
Freffa s @ warifires J0g® IO
(A) Fewam p. (B
©) =mE ¢ (D)
(B) o9 990D

4
Which of the fdlldwing is not a biodegradable
waste material? Cd
Choose the :r::J.G'Lpprﬂpriarc answer from the
options given below:
(A) Excreta (B) Lcaves of plants
(C) Meat -~ (D) Paint
(E) Question go} attempted

25

26

Which of the following are not the possible
enuses ol ATDSY

T T

. Drinking “impure wate n s an

cr fr sl s

¢ ‘I Or wells a d
poneds O

b. Ny hugghig the inflected person

c. By i“.iCé-l_”'ll needle or bload transfusion
. it
d. I'rom mé:; ted mother to baby in the womb

Choosc the mox! appropriate answer from 1I1cl

options given below:

(A) . bandeonly (B)  canddonly

(€) bandd@rly (D) aandbonly
() Qucslioﬁml atternpted

e 3 2L B A 3 o e o 8
a. q_pﬁaﬁfﬁmﬁzﬁraﬂawﬁtm

b. wﬁa%ﬁzﬁ’rﬂ@rm

c. ﬁqmwnﬁzﬁg‘%mmm

(. et Rg
:ﬁﬁﬁqmﬁ%ﬁﬁﬁmﬁbﬁwmﬁﬁ:

(A) Faea, BB (B) et ¢ 3 d
(C) aﬁﬁb@icd (D) Fasta3tb
() Sraaraguy

i

Which of lh(c:, following diseases is not a
communicable disease?

Choose the ”{'Ei" appropriate answer from the
options given beJow:

(A) Cancer O

(B) Tubcrc{?’g}sis

(©) Chickcq:ppx

(D) Cholerd)

(E) Question not attempted
Fr=fafiaa & Yani-ar S O e 87
Frefafaa fefedt i & aaffae soge sa T
W o T

C\
(B) Hﬁﬁzﬁ@{i@:ﬁ-ﬁﬁ'ﬂ)
(c) o= diad
(D) ¥ (@Fem

(E) oTguid way
[ Contd...
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Which of the following statements is incorrect

about ¢ Leneie vanatnons?

Choose the most appropriate answer tfrom the

OPUONs eiven helow:

(A Quite distinet variations are v isible among
the individual which reproduce asexually.

(BY Vv

reproduction can bc inherited.

(€)Y Somie amount of variation is produced
cven during asexual reproduction.

(DY The numbcr of successful varations are
maximized by the process of sexual
reproduction.

(E) Qumnon not ath.mph.d
SIS EnarSt ¥ v § fetenad § 3

J"I"-'..'tl -'-‘I."U—, JHaT %"’

_—

Feoian lq*miﬂ“mmmﬂq

(A SEE er*rrr—_e,-.-rwmﬁmaaq:rmiz
=3 |=alue-;]_"f‘q"_"“rqva1‘.ﬂﬁ'g‘[?n%|

(B) S5 = WiwAl ¥ S0 € aren fatrard
ERINEG] 'ST"'_"TE.I

(C) =T =i=ar s 599 % SR 9 IQ
E\ll'il:j

(D) mvlq-»nﬂ‘"rmm"mmﬁlﬁw
= SedT § g w8l

(E)Y m‘umﬁ

Which of the following statements are correct
about Mendel's Monohybrid crosses?

a Mendel selected wild pea plant for his
experniments.

b. Mendel studied the inhenitance of one
character at a ume.

c. Mendel’s work was neglected for about 35
vears.

d. Mendel used the word factor for gene.

Choose the most appropriate answer from the

options given below:

{A) a.canddonly (B) bandconly

(C) a.bandconly (D) b.canddonly

(E)  Question not attempted _

TEe = el § Haoll % aR § frefaf@a 5 9

FH-H T el €2 .

a.  Tred T 39A YAl & oY 9 HeE (AT
o) & 9T = AT Al

b, Heew I UE AW A TF T T A A
aerg T am .

c.  Tred &1 wE AT 35 961 9 SUTE @l
1l

d. ﬁ:gafrzfﬂ%{%—mﬂﬁamzmmhﬁﬁm

mﬁqmﬁmnuwﬁwmmm
(A) aea,c3fTd (B) Faelbafic

(C) Facla, b3c (D) Faadb,c3fd
(E) 3gaRa s

orQ-xX12] [:]

afations arising during the process of

30

The character which does not express itself in Fl
generation is called-

(A)  Allelomorph

(B) Contrasting character

(CY  Dominant character

(DY Recessive character

(E) Queslinn not attempted

T, et 3 et rfireTes T e &, 491
HEEET 2-

(A) UdATEHETS

(B) Faud@ o
(C) STt T
(D)  3TSTET T
(E) W@ wd

In “"hich folk dance of Shekhawati and Kuchaman
are the instruments dhol or drum used?

Choose the most apprapriate answer from the
options given below:

(A) Agni Dance

(B) Ghudla Dance

(C) Dandiya Dance

(D) Kachchhi Ghodi Dance

(E) Question not attempted

Tramardt i FEwE & fFH i T | dier ar gy
T T AT ST &2

Frafaitaa fasedi § & waifas Iogw o0 93:
(A) AT

(B) gea1Td
(C) sifewy™
(D) =gl O T
(E) orqmifa 9

[ Contd
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Given below are two statements:

Statement (I): In Rajasthan Pabuji is worshiped
as the God of Camel. N

Statement (11): Pabuji E]!:rtdilt‘t' to be the first 1o
bring Camel to Marwar. ,

In light of the above Sl‘él_t:.si'l'lf.‘]‘lls. choose the maost
appropriate answer fram the options given

below. N
(A) Statement (1) is.€0rreet but Statement (I

is incorrect.
(B) Statement (1) is_incorrect but Statement
i

7

(Il is corrcc.l. o

(C) Both Slatcmcmw and Statement (11} are
correclt. o

(D) Both Statement k_(IJ‘ and Statement (II) are
incorrect. o

(E) Question not atténipted
e 2 e fegme g S
e (I): T & urersft i 3521 & Faar F w0 F
T <l STt 2 [~
T (11): ARATS 7 GAYH S T 3 9T drefsht 2t
Bl )
ST FUAI o STersReH) e few m foeedt § @
TaTfere 39T IO Al
(A) T (1) |Et & wfEHRT o (II) Terd 2l
(B) e (1) TTeTE & il e (1) WE R
(C) = (1) 3 a (i) 31 wet &
(D) A (I) 3 A (11) 2141 Teld &
(E) egaiawg [~

N
Rulers of the princcl{-}ates have treasured the
accounts of their valo?r victories etc. wrilten by
the chroniclers. Whalf these accounts called?
Choose the most ap;trqprirrre answer from the
options given below: ¢

(A) Dawavait (B) Vaat

(C) Khyat D) Vachnika

(E) Question not a ":{—:f . .
farrereit 2k et o Sy, fasrat snfe % gt
1 gferaem g forg Jre stfreat | Heir war
2| 57 il &1 FT FECqT 87

frefafad fasedl § A qaifas 3ug™ 3o H4;
(A) TEad Ce) am

(C) @ Cb) a=frm

(E) af@yd

0orQ-x12 | D
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While reciting the Phad of Pabuji, a musicz

instrument is used called

Choosc the most ap}({??prfa!e answer from the
9

(A) Ravanhattha C__lllj Ektara

(C) Jantar c(P)  Moochang

(E)  Question not attempted

TN &, 98 FEAT 21 4

S g e e B & e T 2

(A) TEvTECAT [~(B) TFam q

©) s CD) =

(E) afawa (‘fi

o™ L
RIICO hassetup a Jaggnese zone in an industrial

options given below:

park in: o
Choose the most apprppriate answer from the

(A) Jodhpur [.(B)
(C) Mount Abu (D)
(E) Question not atfémpted

At (RIICO) 7 U STGHHT & (Si), _ 3frenirs
urdh vt ) N
ﬁa%ﬁgﬁﬁa;eq'fﬁa{:’qafrmmgmmﬂi;
(A) SiaR c(B) HAW

options given below:
Dholpur

Neemrana

~

(C) WA (D) AT
(E) Siuiaus I~
0y

Which Festival of Rajasthan is celebrated on 14"
January, on the daypolf' Makarsankranti, every
year? ™

Choose the most apec\{;.lprfare answer from the
options given below: (™
(A) Ballon Festival (B)
(C) Kite Festival P(D)
(E)  Question not agempted

TTeT H i a9 14 S, W 3 o T

Rose Festival
Colour Festival

ST Tl SeT < ST iR
ﬁmﬁr@aﬁwﬁﬁ{' g I
(A) TENSET ~(B) T Iwa
(C) WwM3I®d (D)  TIwg
(E) rgafta usr

[ Contd...
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Which of the following is not an example of
physical change?
Choose the most LFppmprirm' answer from the

ontions o C
PLODs given below:
(4]

(A)  Changing thecolour of the tips of hack-
PR (1 .
saw blade n? sllrong heating

(B)  Formation of, brownish layer on the iron
gales u[‘pnr[(;‘

(C)  CuXing a picce of paper in four square
picces [

D)  Maki N

( aking a plece of chalk from chalk dust

() Question ndi'dttempted

ﬁn%%aﬁ%ﬁ?%;m’rﬁmqﬁaﬁqmwm
kL o
frfafes faedt Wa watfire sugw sw i
(A)  SIER-31T 35 7S i 3t e et e
waa-rmaza'ml
(B) U & ¥t HSESI T L T Il W Hl
w0
(C) IS F THgHS ol IR MR ghel
S
(D) =i Yo | =reh ol gl S
() 37Faia 94 [~
d

Nature of magnesiom hydroxide is:
Choose the most G})'pmpriare answer from the

options given bdoN

(A) Salty © (B) Neutral
(C) Acidic ~ (D) Basic
(E)  Question nat-attempted
ﬂﬁrﬁmrm?ﬁnﬁg S T T BT &
frafatad ﬁmﬁymﬁwmmzﬁ
(A) a4 (B) I

i ™
() == (D) e
(E) AgaRd 94

orQ-xiz| D

40

R Rt LI LT,
TR M EL TR R

The process of depositing a layer of zinc on iron
is called:

(A) Rusting (B) Necutralisation

(C)  Crystallisdiion (D)  Galvanisation

(E)  Question fof attempled

a5 it gfqFy amrr A afmar s _
FTd 8 o™

(A smamm N3y =T
(€ freefa (D) e

o S\
(B) orafa u»{j:
CAZRI, a rescarch institute in Rajasthan, is
working on the issuc of:
Choose the most.appropriate answer.from the
options given bclb__{k':
(A) Camel reseafch
(B) Industrial fegearch
(C)  Arid ecosystem
(D) Space resdarch
(E)  Question ot attempted
FAT (CAZRI), TSI 1 T 19 §e4 fohd
foro e @ R
Frefafaa faeeai i & waiffires 3ugw sat
(A) STTHIE
(B) i STEAH
(©) Wmﬁ&uﬁ:ﬁ GES

(D) amftsarzﬁwazww
(E) amﬁ?r;rsr;\;

Choose a major issue which has always affected
the agricultural development of Rajasthan -
Choose the most-appropriate answer from the
options given below:

(A) Insufﬁmel{"lnnd for aErlcullure

(B) Lack of -mtercqt by entrepreneurs of
Rajasthan*

Unprcdlcm\[c and irregular rainfall

©
(D) Scarcity ofhetals and minerals
(E) Question not attempted
frfafaa & & 3§, @ e & == it e
wmﬁaﬁﬁw afr woa i R
fr=fafaa T"f L Wﬁﬁmmmaﬁ
(A) T a;ﬁ-q
(B) E{aﬁm i‘r TS h Y
(C) avenfE 3 s{faiia aut
(D) T 3fR @it T et
(E) arfrf{a o
[ Contd...
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F]uv:u-dhnn Asrani, popularly known ns *Asrani’
15 lmous as a:

Choose the most appropriate answer from 1he
oplions given below:

(AY  Aclor

(1) Player

(Y Music Director (D) Politician

()  Question not attempied

Trav s S f ot am O famm @, 70
wfaR

Freferfiere vt 1 watfirs sage 0 TH:

(A) i Wy feremd
(©) wiafEms (D) uwifaa
()  3vaiE wg

The Late Jagjit Singh was famous for which style
of singing?

Choose the most appropriate answer from the
options given below:

(A) Tenore

(B) Ghazals

(C) Saoprano

(D) Western style singing

(E)  Question not attempled
eﬁmﬁﬁﬁﬁzﬁmﬁﬁﬁnﬂmﬁxmnﬁ?%@
ﬁmfaﬁaﬁ famreat § @ waifes 39gw a4

(A) TR

(B) TE

(C) JIwE

(D) uferHt At maET
(E) 7Iwia wd

When a ray of light incidents normally on a plane
mirror, the angle of reflection is -

Choose the mast appropriate answer from the
options given below:

(A) 90°

(B) Greater than 20°

c) 0o

(D) Greater than 0° but less than 90°
(E) Question not attempted

mmmm@ﬁmzﬁlﬁmmm
ﬁ?ﬁ%mmﬁqmmmﬁm
ﬁqﬁ@ﬁﬁmﬁﬁWMMW?:

(A) 90°

B) 9v° & fuF

(cy o°

(D) 0" sifi wg 90° & FH
() wiEa 94

10

44

45

ane MIrrors mect at right angles. 4 i,
L

Two pl o |
ray is incident o0 one MIrror angle of 1.
what will he the angle of reflection from g,
(H} :
second plant mirror?
Choose tht most upprnpnme ansvier from g,
options given below:
1 Tvae Z0m OF o 7T A awE T )
vy A PR qﬂﬁ'ﬂm 30° FN T AT 7
rIWqum_-.Wﬂmmm?
T o
fFreAfearfad frFedi A A Heiferas IUTE TR
Ay 90° (B) 1207
(c) 30° (D) 607
(E) Question not attempted f“ﬂ'ﬂﬁ'ﬁ?ga
Match List-I with List-II:
Llst-l Lis'-ll
Shape Type
. a. ¢ I. Convex mirror
b X [I. Concave lens
« ¢ 1I.  Convex lens
) [V. Concave mimor
aqelt-1 35 ey -1 77 v
T w11
arepfa ksl
- 0 A SR
b. ) . s S
& ( ©OIIL I[qA T
¢ ) V. Ead =9

Choose the most appropriate answer fro@ &
options given below:
#ra few e faeredi 7 § waifaras 39gm 390 2 G

(A) a-IV,b-Lc-1,d-1II

(B) a-lLb-ILc-1,d-TV
(C) a-ILb-Illec-1V,d-1
(D) a-IlLb-IV,c-1,d-11
(E) Question not attempted / ﬂfﬁfmﬂ
Iconld-
A
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ATAL Sewa Center are located in Rajasthan in/
an

Chowse the mast appripriate answer from the
options given below; O

Y The Gram !‘:\nch'.is‘.jt level

BY Al the counts

() The capital of Rajagthan

M Al major eities of Rajasthan

() Question not atterhpted

USRI R dyeet dan g wel o fvr 2
Rt ol 3§ & Ruife swge sog:
(\) URSNEARR (]

(B oy O

() TR ) e o

(D) TR ¥ W wgrt}!srrﬂ y

~

()  SufEuw o

The Toll free Tclcph&?{f number for *Child
Helpline' is:

Chovse the most appn%\\rliure answer from the
options given below: =

TS BeNenE & g Rgs dw om
(m]m%:

Frioia fee 3 / wgifd® Jugw™ 3o O
)12 (B) 1098

(© 109 (DY 1095

(E)  Question not attempted / aaﬁflﬁw

. . S
The First National .'R}'\:u:‘%‘ﬁ jln_\' was celebrated on

Choose the maosr appmg?'arr answer from the
options given below: ¢y

(A) 27 August 20248

(B)  31% August 20247

(C) 20" August 20242

(D) 23™ August 2024

(E)  Question not attempted

wuR ULIT At faaw tl' T AR 7T 97|
Freifrfiga e § @ WaTfU® 30 300 TH:
(A) 27 3T 2024
(B) 31 HATH 2024
(C) 20 37T&d 2024
(D) 23 T 2024

(E) ¥gaRa X

0222

OrQ-X12] [j

49

Which of the following is not a part of human
male reproductive system?

(A)  Vas deferens [‘('ll) Testes
o
(C)  Seminal vesicle(1)  Fallopian tubes

(I2)  Question not atrefnpted

el 3 & o wie s o e T
* N

(A)  YFaTTH f;{'_n) T

(C) IFNE (D) et afere

() e wy I~

™
Which of the following is not a type of teeth in

humans? (Y]
(A) Incisors

)
s o
(C) Pylorus ﬁ)

(E)  Question not attcmpted
Freferfiae 3 & s-wm oot 3 gidl T Ok SR AR
® ~

Premolars

Canines

(A) A CB) =
(C) URErd Cp) w =

(E) 3vafa war g

N
From the following {3t select the organs of the
human digestive systém:
a. Rectum b. Trachea
c. Oesophagus 1. Urinary bladder
e. Pharynx
Choose the most apwpriare answer from the
options given below: o
(A) a,candeonly(B)
(C) b, dand e onlyf(D)
(E) Question not a ’r:inptcd

Frafafea W=t § & o & w3 i s

a and b only
cand d only

fifire N

0. HANE cb.  SfE

c. TSI d. R

c. it N

+r fe e fereredt 3 § gravfores wgen v g

(A) aﬁﬁn.caﬂ'{edl) aﬁ?’l’naﬁtb
(C) Faeb,d3fMe (D) Fatcaikg
(E) orgaita v

[ Contd
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Who nmaong the following was the first Governor
of Rajasthan?
Choose the maost appropriase answer from the
oplions given below:
(A)  Dr. Sampurnanand
(3)  Sardor Shri Hukum Singh
(C)  Shri Gurinmukh Nihal Singh
(D) Raj Pramukh Sawai Shri Man Singh
(Y  Question not attempied
fr=fafaa § 3 oowm & v i EE 9
fr=fafaa fawed 8 @ aaffie sogw 3o T4
(A) i
(B) wen h gF fiw
() ft faere few
(D) TS wq@ waré ot o fiw
(B) 1uf v
The number of womcen who have become Chiel
Ministers of Rajasthan till datc as on 1% September
2024:
Choosc the mast appropriate answer from the
optlions given below: '
| fam=r 2024 7 TR A g e afeer
B iy

o 8 & wrarhfires Suges S
A) 3 (B) 4
© 1 (D) 2
(E) Question not allcmp'led / Gﬂﬂﬁ.ﬁ'ﬂﬂ
Who among the following was appointed the
deputy Chief Minister of Rajasthan in December
20237
Choose the most appropriate answer from the
options given beclow:
(A) Bhajan Lal Sharma
(B) Prem Chand Bairwa
(C) Gajendra Singh Khimsar
(D) Rajyavardhan Singh Rathore
(E) Question not attempted

§ @ fra fagmn 2023 #, TR F
g 3 v at ek fear mar an?
frafafan faaed § @ gaifie 39ge I
(A) 5 re Tl
(B) 9 I=a@r
(C) ez foe famat
(D) UegaH fie WS
(B) ygufawa

12

55

57

i Crop grown in Rajasthan:

Rab
Select a te answer from th,

he most appr oprid

Choose 1
options given below: '

(A) Maizc (B) thfc

(C) Barley (D) dBajra

: stion not attempte
:ﬁ:fm::z;ﬂmrﬂmﬂamzﬁhq )
ﬁﬂfﬁﬁﬁﬁ?ﬂﬂﬂﬂaﬁmwm?
(A) FFRI (B) =&

() s (D) AT

(E) ST 94

In which phase wcr;z Alwar, Dholpur, Bharatpur
and Karauli merged into Greater Rajasthan?

Choose the miost appropriate answer from the

options given below:

(A) Third (B) Fourth

(C) Fifth (D) Second

(E) Question not attempted

Ferer T 3 ST, TR, AL ST el 1 62
T | faer g

freafafaa fasedi § § gaiferes IUgw ST ST
(A) T (B) wgd

(©) u=m (D) fed/r

(E) Sffuitaus

Who among the following is given the credit for
taking Kishangarh style of painting to its zenith?
Choose the most appropriate answer from the
options given below:

(A) Uday Singh (B) Nihal Chand
(C) MoolChand (D) Chandan Singh
(E)  Question not attempted

ferere e deft 91 s Toiad WS TR
w1 2 Fr % @ ot foear s 2
mwﬁ%ﬁaﬁ?}mmmﬁiz
(A) I fde B) frema=

(E) SAquf@awg

[ Contd...
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Who  has written ‘Baatan Ri
(Collaction of Rajasthan folk tales)

Phalwan®

LOhoose the mowt eppropriate answer trom the

ORTONS piven belows:

G\ Vijapdan Detha (B) - Laxmi Kumard

() Sha Lal (D Malchand Tiwari
(E) _ S}m‘.ﬂﬁon not attempted

T T OIER (URE Sl )

~ -
B T ;" (311 I.(“l\s' Y ?\“

FEICTEE NEeS N §INS Sugw IO

() E—sa?m%m (B s
O HNiT™ (m nTew< faardt

(B)  SIERA O

How many numbers from 430 to 600 are exactly
divisible by 12, 13 and 207 )
AY Two (B One

(&)Y  Four (D) Three

(E)  Question not attempted

30 600 T Frmr s=and 12, 15 3K 20 F ofa:
= )

)

A B &
) SK (D) ©=
(E)  SToRd WN

Two years ago. the average age of A, Band C
was 24 vears. 7 yvears ago, the average age of B
and C was 25 years. What is the present age of A?
(A) 24 yvears (B) 14 vears

(C) 16 years (D) 20 vears

(E)  Question not artempted

S aS TES A. B a1 C S 39a g 24 A ol 7
=% Ted B K C 7 e g 25 6 i A H
AT g T8 -

(A) 2498 (B) 143%
(C) 168 (D) 208

(E) 3Hia WX

The hormone that regulates the blood sugar level
in our body is:

(A) Thyroxin (B) Testosteron

(O) Adrenalin (D) Insulin

(B) Question not attempted

3

FX T4 T T 0 & WS HAtAg e Jren
T & - o I

(A) umdfEs  (B) TRRERH

(©) e (D) TR
(E) g

- oPQ-X12] 1

62

The examples of connective tissues nre:
o Blood b. Bone

C. Lpithelinm d. Cardinc muscle
Choose the most appropriate answer from the
options given below;

(A) o band donly

(B) b.eand donly

(C) aandbonly

(D) a.bandconly

()  Question not attempted

HAYS Ferehi o ILTET & -

a. Th b. arfeyr

C. ufrefiferas d. E‘q’ it

i e frret i @ iy Fwges 39T
(A) Facta, baid

(B) Sadb, c3d

(C) Fada3ib

(D) Faera, b3iMc

(E) AuiE ws

What is the percentage of oxygen and carbon
dioxide in air inhaled by a human being?

Choose the maost npprupn'ar-e ans:\ver from the
options given below:

(A) 21% and 0.04% respectively

(B) 0.04% and 21% respectively

(C) 16.4% and 4.4% respectively

(D) 4.4% and 16.4% respectively

(E) Question not attempted

T I 37T #f S arelt e ¥ itedfeT et
T STFTETES o1 WiaeTT =41 giaT &7
frefafias faeel # & waifas I9g® ST
(A) FHEEI: 21% 3I0.04%

(B) SR 0.04% 3T 21%

(C) FFTT: 16.4% 3MT4.4%

(D) T 4.4% 3T 16.4%

(E) 37wt v

[ Contd...
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64  Support money for big cattle (big govansh) under, 67 Match Lusl'l_f ith L= List-II
cattle mainthified in cow shelters registered by List- M rom Plane mirror
the state gUimn1enl is enhanced from Octaber a.  Refleghipnl ro
2024 as- a polishéd or
Choose the ';'r:'.r i rer from the shin}'gﬁll'fﬂcc .

: ‘1 h'?‘ appropriare answer Iron - used for 1L Concave mirror
options gwcrr{__below: b, The lf{r .
(A) T 62/day (B) T 68/day an upright IMA&e
C) T 44/day D) T 54/da of an object
((Ei QUCSUQ};I not altim:)ted 4 c. The r?h:ror which III.  Regular reﬂecticr_n
mmmwﬁﬁiﬁmﬁ F g M9 & always-forms
AT | 1At 2024 i e afg 6w 2- ' same Sized virtual
Frerferfiare Faret i & Frarferes v s and Kgfolly
Aa) Ta62 }"a']' B) 68 ;ﬁ:q im'ertf(_% image
©) a4y (D) T 54/ d. Mirordsedin V. Erect
(E) raRays " solar bobker
and torch
65  The cost of food thali for poor and needy under Hl- IEF[‘Glé"hl$'FI'IYI fireT T =i
‘Shree Annhpuma Rasoi Yojana', a welfare 'Hﬂ"l‘ b W I
scheme oth]asthan (as on September, 2024) is : R = T L L. HHae 29
Choose the most appropriate answer from the _ difererE S
options givetiielow: e e . )
TeerE & S FHeor A coft ST w@iE b. am;a?" [ 37Ede Z4
2T, 3 STt T @ ST R e ATl @
i Frm (R 2024 3 sigam e 2 W
Erffias fmedt § § waffae Joge WO i zrg-,;ﬁ—q— . Frafi voads
Ay T g ® T12 - T SRR
© T8 g (O 22 -
(E) Que:';t"u_::d not attempted / 3774 9 mﬁwc%jﬁ?r
66 Which orthec__r'g.)llowmg. is not an alloy? d. Hrewgssit v, $Ee @
Choose the most appropriafe answer from the 7= 3 g Ry
options given-below: I e 2
(A) BronZ (B) Brass Choose the Jlrost appropriate answer from thi
© Smmlt@ steel (D) Cadmium options givEanclaw:
(E) _Questjo not attempted Frar fer e et ¥ & wrtfires suges SeOTE:
Frffea 3 fm'mﬁﬂmﬁﬁ%q @A) a-1mb-1v,c-na-u )
mﬁmﬁ%ﬂﬁﬁﬂgﬁm? (B) ;_“r‘\{)-] L:-IV,d Il
() F @D @) e e (©) a-I Et? IV.c- 1L d ~ I
© wdEew (D) i P
£) a4 . - .‘ -lLe-1L,d-1V
( ! (E)  Question not attempted / AR 94
oPQ-X102 | D 14 '
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68 Doly, the first cloned sheep died in:
Choose the nrosr appropriate answer from the
Oplions given below:
STl Tk et i v o g gl
Freferfan e & & watffas ST IT
(A) 2008
(BY 2007
(©) 2001
(D) 2003
(E)  Question not attempted / ITaRE wa
69  Animals which lay cggs are called:

Choose the moss appropriate answer from the
options given below:
(A)  Ovoviparous animals
(B) Invitro fertilised animals
(C)  Viviparous animals
(D) Oviparous animals
(E)  Question not attempted
313 3 T it T R
Frfafas faredt § & watfae suge swog:
(A) HAesUgs S|
B) sy
(C) wSitaysa Sig
(D) 3IUSHSF g
(E) gaiawd

[70  Identify the oviparous animal.

5 (A) Dog

(B) Human beings

! (C) Butterfly

! (D) Cow .
(E) Question not attempted  +
ST i 1 TeTH &
(A) Fell
(B) ®IHA
(c) faeh
(D) T
(E)  STguie e

orQ-x12] 7]
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72

73

74

Name the animal who breathes through its skin:
Choose the maose appropriate answer from the
aptions given below:
(A)  Elephant

(C) (D) Earthworm

()  Question not attempted

I S 1 A A A AR = | wie o ol
Frifefaa et 4 4 werffires sogs 30 T4:

(B) Camel
Monkey

(A) Tt (B) %2
(C) ==t (D) FeT
() i@ vy

The price of a commodity decreased by 10%
which enabled a shopkeeper to purchase 8 kg
more of it for Rs. 3600. Find the reduced price
per kg of the commodity,

fordt ag &t a7 10% i FH T R/, &
GEHIET 39 ] 1 8 fefmm atfere AT 1 T 3600 #
@tz @ Fioa w9 B a1g a5 H gia
hiwe FTa i)

(A) T4s B) T42
© Ts0 (D) 48
(E) Question not attempted / aﬁ?fﬁ?fﬁﬂ'

When 36 is added 1o 60% of a number, we get the
same number. Then that number is:

v forelt e 3 60% T 36 ST ST ®, A ¥4 9@
HEAT YT Bl & A 98 6 8

(A) 90 (B) 100
© 75 (D) 80
(E) Question not attempted / alﬂ?rfiﬁﬁ’;l'

A student has to score 40% marks to pass in an
examination. He gets 30 marks and failed by 20
marks. What are the maximum marks of the
examination?

T T 1 qheT § 6ol € o faT 40% 35wy
T §1 3 30 3f e € 3 aw 20 3T & Stwfiof

B e &, 9 ot o i i w=
(A) 125 (B) 140
(©) 90 (D) 100
() Question not attempted / AR wsr
[ Contd...

Scanned with CamScanner



75

76

Join Telegram "HaryanaJobs.in"

Which of the following statements is correct
about the alluvial soil in Rajasthan?

Chclov.ﬁw most appropriate answer from the
cpuontgwcn below:

(A) Thlq soil contains cnough quantity of

n lJO uen.

(B)  The amount of potash and lime is found
fesk in this soil.
(C)  This is found only in northern districts of
f{';ljns!han.
(D) 1s soil is very useful for the production
Ofvheat, mustard, cotton and tobacco.
(E) @Jcsnon not altempted
nmq{;aaiam%aﬁuﬁn%@aﬁﬁaﬂq -
o R
Frfafae i § 8 HATTEr® Jugw It
(A) TG TR AT A1 g s 2
(B) {g,mﬁtﬁzmaﬂrmq (=) < AT
(©) Numm%%aaaaﬁﬁﬁﬁﬁmﬁwﬁ%’l
(D) ¥\, |YE, FAH 3R oI kI F
ﬁaﬂ?ra'q'q’pﬁ 2l
(E) ata\g?rﬁawﬂ
N

Which§snot a type of bush found in Rajasthan?
Choos
optiong’given below:

e most apprapriafe answer from the

(A) Fiha (B) Ama

(C) }%Jg (D) Dhaman

(E)  Question not attempted
aﬁqm%mnqmmmsﬁmwwmqﬁ
¥ N ‘
ﬁnﬁ%ﬁﬁﬂﬁﬁmﬁ‘wwmgﬁ
(A) (B) smm

(C) (D) umAuT

(E) i 94

OPQ-X12] lj
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78

79

| (‘3' 7

. |
Eight friends collected money (o help n%d!
victims. Six of them brought ¥ 30 each, T,
seventli person brought < 100 POTC than (e |
avcr:ngcr 6‘1’ cight persons and the cighth persop |
(] .
brmu,hl-?: 550. What is the total sum broughy by

them? <% '
mﬁﬁ&%tﬁ%ﬁﬁm%mwm%ﬂﬂ
7 @ g8 X 300 W SAF AT =T = g
=t ¥ sitoa @ T 100 3R TR 3N sy
wfe T-550 @M el el TR e Ay |

(A) ?7"1'300 (B) ¥ 2400 |
©) 2’ 3400 (D) <2500 ;
(E) Qucsuon not attempted fﬂf—ﬁfﬁﬁﬂﬂ !

*J

A famﬂy,cons:sts of grandparents, parents and
three grandchildren. The average age of the two

grandparents 18 66 years and that of the parents is

80

34 years If'thc average age of the grandchildrens |

is 8 years] then what is the average age (in years)

.|
of the sgven members of the family?

Qﬂ?qﬁ‘nﬁam <, HTaT-foaT 37 et O - qifirt

%lﬁﬂ?ﬁaﬂmmma&%aﬂtwﬁmzﬁ |

aﬂwmaﬁﬁmﬁq’r&w‘rﬁzﬁzﬁraﬁmms

a&%a’[wa:mﬁanﬁaﬁraﬁuammﬁ)
TR O
"'\
(A) 3&1 (B) 30
© 33y (D) 32

(E) %&stion not attempted / Nﬂﬁﬁﬁ‘ﬂ%{
The selling price of 12 apples is equal to the cost
price of* 15 apples. The profit percentage is:
12 9t gy foremr ot 1 5 il 3 55 e 3 AU R
mwﬁma%
(A) "5{ (B) 27%
© 15% (D) 20%
(E) Question not altempted / 3¥TGT war

[ Contd...
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A mumder ol veilad women dancers halance up to

VDO NS DRSS oS on their head. This dance

form 1= callad: o

Chooe the mast a:ppmpn.ﬂc answer from the
aiven helow: ‘

Terh Tali

Ghoomar

\\:\ ONS

W)

Y|
(B) - Bhawni

. (D) (" Kalbelia
(E)  Quastion not atempted
=T E ST TS Feen 9 T I ST ar Sl g
FTEEI 8 [~
::"—IC‘RQH laq‘cﬂ‘.‘[ ';'} % wﬁbﬁmaﬁtgﬂ'
) SR (B) \[Wﬁ
() T (D) | Frefera
(E) inﬁ&?fw [\I
N
Which dance is performéd’ by the Bheels in
Mewar?
Choose the mosr appmpri‘?!c answer from the

options given below: )
(A) Bhawai Dance (B) r\Ghoomar Dance
(C) Gavri Dance (D) (\Kalbeliya Dance
(E)  Question not ancmpﬁd
EEIEE: mm%@r:ﬁrmwﬁﬁmw%’
mﬁmﬁmﬁﬁwﬁammaﬁ
(A) YERETA (B), TRTH
(C) TEAT (D)  fETeT T T
(E) 3gui@ ¥d o

N

*Tamasha’ is the famous ft\xik theatre of which
place of Rajasthan? r\]
Choose the most approprigte answer from the
options given below:
(A) Kom (B) ™ Bikaner

. (\1U
(C) Jaipur (D)
(E) Question not mlcmpu.d
wiGg @i AT TER mnﬁ:%aamaﬂ%'

ﬁqmaﬁwﬁﬁﬁwmwmmgﬁ
(A) @R (B) O\t

©) EE (D) S

(E) 3gaita ¥

daipur

17

Where is the Jawai Dam situated in Rajasthan?
Choose the most appropriate answer from the

options given below: <]

(\) Kota “(B) Sikar
(©) Pali :('D) Jaipur
(E)  Question not aﬁn?mpmd
S | 4TS a1y Fakfeda 82
Frefefan famedt 3 & waifaes s9gw STCE:
() (B) ®
(©) et Uo) s
(E) e ws f_,f
N

According to the census of 2011 which of the
following districts hﬁal.he highest population in
Rajasthan? -1

Choose the most appropriate answer from the

options given below:i~

(A) Jaipur L\(B) Pali
(C) Bikaner [;%D) Sikar
(E) Question not attempted
ﬂollﬁm%mmﬁﬁﬁnﬁﬁ%ﬁ
ﬁﬁrﬁmmfﬁlﬁi%"
ﬁtrf‘aﬁa?rﬁwq’fﬂﬁmaf&a;mma%
(A) SR p~(B) it
(C) = o(D) €
(E) i v :?\E

N

In which of the following years was the Rajasthan
State  Road Transpg;fl Corporation (RSRTC)
established? =

Choose the most appropriate answer from the

options given b(.lo\\"- N

ﬁnﬁ%ﬁﬁﬁ%@ra&ﬁmﬂmmm
fiT (RSRTC) ot &uTaqT §% o2 :
ﬁmﬁf@ﬁﬁwﬁﬁﬁmﬁ?mmgﬁ
(A) 1962 ) 1964

(C) 1955 (D) 1960

(E)  Question not attempted / AR W

[ Contd...
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In Rajasthan, Bisalpur project is located in which
of the following areas?
Choose the meost appropriate answer from (he

options given below:

(A) Jaisalmer (B)  Udaipur

(C) Bikaner (D) Tonk

(E)  Question not attempted

T 3 fargeg uRE e frafefad 3§ 4 frg &
¥ fam e

T R fereat & @ HaH ITGE FCT:

(A) SHeR (B) IR

(C) e (D) <=

(E) ¥aiE wsr

Which of the foXowing National Highways pass
through Rajasthan state?
Choose the mosr appropriate answer from the

options given below:

(A) National Highway no. 2

(B) National Highway no. 37

(C) National Highway no. 11

(D) National Highway no. 13

(E)  Question not attempted

Frafefaa & & #-ar agdia gt Teem ter
fr=fafa fasedi 4 § waff‘mwgmmﬂﬁ:
(A) T usmr g@ - 2

(B) mwﬁm -37

(C) U TS G&AT - 1]

(D) U T HEAT - 13

(E) Iqafe g4

OPQ-X12] [T]

84

89

18

Which of the following factors do not determip,
ie

the climate of R ,
Chaoose the most apprﬂpﬂ’afc ““ﬁ“’cl’ from the

/

njusllmn?

o Lalovys
options given belov

(A) Wind direction . /
(3) Distance from the sca _;'.
(C) Latitudinal position

(D) Longitudinal posilion'

(E)  Qucstion not attempted

Frefeflaa & FH-61 Fh TR HT STy 5
Frife el svear?

fFrafafas fasmedt § & waffas Iogw sm g
(A) wmdifem  (B) @Rl

(C) ewizfia feafy (D) vl feufy
(E) orufea v '

Which dialect is spoken in the areas of Churu,

Jhunjhunu,  Hanumangarh, Suratgarh  and
Ganganagar?
Choose the most appropriate answer from the

options given below:

(A) Mewati -

(B) Wagadi

(C) Malvi

(D)  Shekhawati

(E) Question not attempted

TE, 9% TG, TATS 3R e 3 ap
- St el et 29

ﬁﬁﬁrﬁaﬁmﬁﬁﬁmﬁ&mmmgﬁ:

(A) Tt

(B) . amTE

(C) el

(D) Yr@TETh
(E) Srafer woy
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Fom -'In. gy oy W . N
In Rresthen, “Saaihi® s madke dunng the
Shrad i 2 ‘ \ ‘
Al Pasha oo cht)  bBetore which
Sl y

=

CINOS O mans grpmpriane answer from the

COTNTS Shven Nelow Y
(AY  Dhwal; N

~
() Poaml (\j
(W) Dt o

M Hob

)

(B ':-."r? N

~ o

() S isl

(D} 5‘-:.—:1 f“

(E) FF==rasn N
o

WEich of the followimg pair of poultry bird and
it= cheracienisuc s C'L';"\'LLII\ matched?

Choose the most q?{fnpnare answer from the
opzoas given below=D

CARI SONALI - Commercial Brown Egg

(A)
I 2ving Chicken~
(B) CARIBRO \ISHAL - Dual Purpose
. O
Chicken
L
(C) CARI DEBENDRA - Commercial White
Eco Laving Chicken
(D) CARI PRIY A DDual Purpose Chicken

(E) Qucsnon not a?mp!dd
EeEmaaE=Es e qeft 37 9l faawar

I=—ucii3
?:Emma:-ﬁ?m%‘m
£t fawedl & TS I9g® IR I
- - - P" - mm
&1 | - = T 372 & aredt gfital

(A)
(B) TET farerer - SR Jeed aredt gt
(C)  F¥E=z - arfufste a6 3 A el
(D) & fira - SrEv=te e gffal

(E) Saiw ¥

OPQ-X12] D

Which of the following pair of poultry bird nnd
its chameteristics ivf:nllt correctly matehed?
Choose the maose :p:lnrprhm‘ unswer rom the
options given lwlu\E:_:':

ITCARI - Umproved Indigenous Fowl

)
CARIBRO §1lil'l'\'llNJ.*\Y - For hot and

l.'\)
()
humid region

()  CARI SHYAMA - Improved Indigenous
. il
Fowl Y
(D) UPKARI- ll'ﬂ]lm\'utl Indigenous Fowl
(E) Question nutnpcmplcd
ﬁnﬁ{ﬁﬂﬁﬁmgqreq&ﬁmh:mﬁ ferdrerer 3
R o weh Fverr T o T @2
Pt famedt 3 ) watfiys Jugm IO

et - ST e

(\)

(B) ﬁr—«m Hafnamfm%?%u
(C) 0 wmI- m&aﬁgiﬁ

(D) m-m%m!gﬁ

(E) i O
~
Which of the f‘ollo%‘lng is n grazier/shepherd of
Rajasthan? Cd
Choose the most {[;}j:mprfare answer from the

options given beloWw

(A) Raikas © (B) Gujjar Bakarwals
(C) Gaddi [~ (D) Dhangars

(E) Question noéftcmpt&

Freforfiga § F 70 TSIEU ST 2

ﬁnﬁ%ﬂﬁm‘ﬁmmmaﬁ
g (B) TEEEETE
(D) YTR

(A) IR
€ ™
(E) ¥geia ws

[ Contd...
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94 Which of the following is not an exotic breed of
cattle in Indin?
Choose the meost appropriate answer from (he
options given below:
(A) Kankrej
(B) Holstein-Fricsian
() Jersey
(D) Brown Swiss
(E)  Question not attempied
frafafes § & v § -6t mARwT 6 fRsh
EISE LR
Frerfefen fawedt # & waffaes soge s
(A)  FiwE
(B). BrewIH-Wwrsfyas
(C) =
(D) = e
(E) SguRaw s
95  Which of the following type of animal is

suggested minimum floor space for housing
purpose?
Choose the most appropriate answer from the

options given below:

(A) Adult Cows

(B) Aduli BufMaloes

(C) Heifers

(D) Down Calvers

(E) Question not attempted

ﬁq%%aﬁﬁ%qm%qﬂ%%qamm
%ﬁﬂﬂmﬁwwmﬁmwﬁ?
ﬁqﬁmﬁmfﬁﬁmﬂ&wmﬁ;mﬁ:

(A) TO=myg
(B) g

(©) afear @Erw)

(D) TR TGZ (I FaW)
(E) gafa wa

OPQ-x12] [7]

20
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/
I
/

/

Which one of the following in o ‘%h Vi
|

prown’!
Choose the maost appropriote answer frop, Iy

options given below:

(A)  Cutlu catla

(B)  Apis melliferia

(C)  Pencany monadaon .

(D) Muacrobrachium rosenbersil

(1) Question not nttempted

Freiferfera it @ w¥-ar stermiin e 1 2
Frefefera ferredt o @ waffae zqgmz;nﬁ
(A)  ohercTl- herelT

(B) g aehdt

(C) fFE e

(D)  Fmwifarm totaft

(E) orgafta o

Which of the folfowing is not corrcet about
CARI-NIRBHEEK?
Choose the most appropriate answer from the

options given below:

(A) Itisasingle coloured indigenous chicken.

(B) This chicken is for cgeg and meat
production.

(C©) TItisaresult of Indo-German collaboration
project,

(D) Ficld evaluation done in Rajasthan and
Punjab.

(E)  Question not attempted

ﬁ%ﬁﬁﬁj‘%ﬁﬁaﬂw‘%aﬂﬁﬂﬁq—mw
el T 8
Pt foenedt & & wartfire suge soog:

(A) T8 G T1 areft uft et )

(B) & it afer off i (wiw) e & Ryw @)
(©)  T® MR- wEa aRESET 57 ghomg 2
(D) STt 3R derrer F &y i v )
(E) 31wt wer

[ Contd...
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Which of the following is true about CARI
PRIYA?

Choose the maosr appropriate answer from the

options given below:

(A) Commercially Brown Egg Laying Chicken
(B) Commercially White Egg Laying Chicken
(C) Commercial Broiler Chicken

(D) Dual Purpose Chicken

(E) Question not attempted

Frafafen 5 8 S5.ar a7 50 far Fadad
&
ﬁﬂ%ﬁaﬁﬁaﬁrﬁﬁnﬂmmmgﬁ:

(A) aorfegss X 372 3 areh gfifat
(B) afUrfsaes |ibg 372 & areit qitat
(C) aforsas Hraer gfitat

(D) <TeX Jg7a areh giital

(E) 3¥ia u4

With which occasion is the Kachchhi Ghodi
dance associated?
Choose the most appropriate answer from the

options given below:

(A) Holi (B) Navratra

(C) Teej (D) Marriage

(E) Question not attempted

Fo2 urel 74 forar sraat & wafia &2
Frefafea fasedi @ 4 waifere sugw sw g
(A) el (B) U=

€ = (D) famme

(B) wgaf@wy

- 0PQ-x12) 1

100 On which occasion do women of Rajasthan wear

101

“Lahariya Bhaant Ki Odhni?"
Choosc the maost appropriate answer from the

options given below:

(A) Diwali (B) Birthofa child
(C) Holi (D) Tecj
(E) Question not attempted

TreaT oY afend By sagT gt et Wid
g™ Tt &2

frafeRas faeedl & & aaifire 3ugw™ S0 E:
(A) feareht (B) FmF==
(C) el (D)

(E) Tuia 9%

According to Mineral production in Rajasthan
during 2023-24, Rajasthan is the main mineral
producer in the country for:

Choose thelmosr appropriate answer from the

options given below:

(A) - Sillimanite

(B) Diamond

(C) Leadand Zinc Ore

(D) Vermiculite

(E) Question not attempted

TSIEAT WS IeTE 2023-24 F AR IR 7

TSI, G T G 6T IcTEh
2 _

e g o ferererdi o & waw Iuges ST

(A) fafeieme

(B) sHws/aR

(C) e ik v

(D) aHiwRpETSE

(B) oTgafta s

[ Contd...

Scanned with CamScanner



Join Telegram "HaryanaJobs.in"

102 Bhilwara city of Rajasthan is known for 104
Choose the most appropriate answer from the
options given bclm\-{::!

(A)  City of textilesand looms

(B) Lead and Zind production

(C©) Geldand Sil\'grjmxluction

(D) Cement Indusff_\';

(E) Question not .’!I-I::lnplcd

T &1 MierarsT ™ & e s ST
&l d

Frfaiea fsed & 8 Faifies soge v
(A) Waﬂtﬂ‘:ﬁ%ljmt

(B) w3 i Switew

(©) ﬁ“faﬁtﬁaé%;,?qm

(D) HE= g

(E) 3IaRawx z:; 105

103 Select the folk dani:e of Rajasthan which is

‘popular for cntena:lz}é*lenl and raising social
issues. (N

Choose the most appropriate answer from the
options given below:

(A) Kuchipudi {“

(B) Garba {:;

(C) Kathputli dante!

(D) Giddha ::::

(E)  Question not dttémpted

TSI & 38 s e 1 7 hfrg < wevt
ST o Hd & e ¥ fere wftrg &1
ﬁﬂﬁmﬁﬁﬁﬂ-ﬁaﬁmmmﬁﬁ:
O G

(B) T ~d

© gy N

© frm

(E) fufawx

OPQ-X12 ] ] 29

|

The number of Gold Medals won by Il‘ldia-l'
v,
Pamlympics 2024 held at Paris was: Al
™ .
Choose the mnirjnppmpnare answer frog, o
options given t)L(I:I‘.‘k\':

™
Wﬁm.ﬁﬁa:oﬁ;.ﬁmmﬁnqmﬁ

. N
frawrdt: o
Frfafes fawel § & waifes I9TH I,
r.—
A 13
(a2 o
(B) 6 (-
N
< 7 o
N
D) 9 N
(E) Question hot attempted / 3¥THA T

I~

Who among the filowing is the first Paralympiz
(=
to win two Parlympic Gold Medals?
|
Choose the mogr\\jappmpriarr. answer from the

options given bélakv:

o
(A) Devendra Jhajharia
(B) HarvindepSingh
N Y
(©)  Sumit .-\n‘&
(D) Nitesh Kitrar
A
(E) Quesnonmattempted
Pt 3 & v Qe et 3 weelt e A =
il e o
P
Freafiafrn frareg 3 & wartfires sogw SOE:
(A) Xz wwta
N
(B)  wia=x fiipy
C
© gﬁam‘a\%
(D) ﬁ?m:q’:m‘"}
(B)  Saie wsy

[ Contd.-
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Sha Rajyavanthan Singh Rathore, sportsperson
wmad politician, excelled in which sport at
Obhwupic level?

Choose the maost eppropriate answer from the

options given below:

(A\)  Shooting

(BY  Hockey

() Loag Jump

(D) Vollevhall

(E)  Question not attemipted

- -

———
D UUT=SI N

e v = oS § tadiew 9.

= -~ N

I SN 3
T8 WG F JGHaT WL G IenE TS %‘?

4

.

— ~ - ‘:-:'
FGra N (ST S W WS SUgW W 91

(A) -—r-\'{lr'\'!Glﬂ‘I (-\:\r-ll
(B) &=

(C) s EiseT

(D) SoEa

(E) SESea s

According to the census of 2011 which of the
following districts of Rajasthan had the lowest
rural sex ratio?

Choose the most appropriate answer from the

options given below:

(A Jalore (B) Dholpur

()  Pali (D) Sikar

(E)  Quesuon not attempted

2011 i ST F AR TSR & A E R
IESES LR CUIRIEES T Y

FreTatad faeosl § § NS IUgE IaU g
(A) SR (B) WiEx

(C) e (D) ®TE

(E) it WX

108

109

Which of the following districts of Rajasthan had
the highest child sex ratio, according to the census
ol 2011? '

Choose the most appropriate answer from the

options given below:

(A) Jodhpur

(B) Jaipur

(C) Jhalawar

(D) Banswara

(E) Question not attempted

201 1 3 ST & FTTHR TSTEAT T Fifden Srel
T e fren Frefafea § & S-ar e
Frerferfiae freredt 3 & ararifires SUgw SEH:
(A) S

(B) AR

(C) WIEES

(D) SrEETST

(E) el T

According to the census of 2011, which district
of Rajasthan has the highest urban literacy rate?
Choose the most appropriate answer from the

options given below:

(A) Barmer

(B) Alwar

(C) Udaipur

(D) Kota

(E)  Question not attempted

2011 F FTVAT F ITER, TRAA F qaiTS
TR WIETTET 2K I TSeT HH-87 91
Freaffia oot # & warffires Juge Smgh:
(A) =R

(B) 3T

(C) SqA|

(D) =T

(E) guiaws

-

| Contd...
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N b .g- i .

Who among the followine famous Ratasthan
b -

iy
110 Some frogs use which special plant’s s pockel! nl' = _ll.. _ i
< CTY an le in Natoma

water for laying their cges? . vl actor played yery impenast w a oeal

[t ju CLS. ) (i‘ P._'!"I. "H’l“h T("""‘“' :
Choose the mosf..qppmprfarr answer from the | Awand wining fm” ‘

- - . Choeose the m‘o_}r apprupriate answer from e
options given belOW: fos
(A) Bmmrh’mt!:) 1 options given beow:
. = (A)  Goverdfidh Asrani \

(B) .'s!:niugacr(rl;ywn'\rmkh' =up=
© MJ!::m'hm[}‘!fmmm : i

- )
(B) Kiku St'l;‘:l?a
(C) Karamvest Choudhary

(D) Cacius o

(E) Question not attempted — > (D) Sahabjade Irfan Ali Khan

o e @ u@raﬁa:%qhﬁﬁmﬁaam: _ (B) Questipmotamempied
ﬁnﬁﬁﬁmﬁﬁmmmy o qoEw & T e TS N A S T
(A) ?rmf%m? N A W“ﬁ—f‘f‘f . .
(®) . ISERRERRTR SR
(© éﬁmﬁ:% 18 (A) =T T
(D) FwH L ® FEmE
(E) HTaRa ¥~ | (€) SHERaEd
N _ (D) Wﬁ}f{ﬂqmaﬁ I.
111  Which one of m%folluuing buffalo breeds 'i'%.-'- (E) SHeEcH
mainly found ;ﬁ\t‘alf Rearing Centre DGE ; N
Jhalawar, R"-‘JQSUH '-:.'-:’_"-1_113 Which of the following is not a reason for water
Choose the mos¢appropriate answer from ghe™ scarcity? o
options given below: ' e Choose the most appropriate answer from the
(A) Bhadawar ™ options given o;\-:
(B) Jaﬂ"a_rabadg (A) Space rERarch
(C) Mehsana (N (B) Global ﬁrming
(D) Murrah g (©)  Rise in population
(E) Question nogattempted - (D) Deforestition
P 7 Y63 -4 T M T @ (B)  Quesdonhovanenipisd
qTeA &2, 2T, , TS uTg STt &2 bR EE: B e R S e SO
Frfefes fasme § @ Fatfis suge s g ﬁqﬁ%ﬂﬁ@hﬁ%n&f&ammm
(a) wmt O (A) mﬁw.q
(B) STl g : (B) s S
(C) wemmm (N (©) eI
o = O O

(E) uq (E) st ws
OPQ-X12 | D 24
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114 Which of the following regions of Rajasthan

116

.shares its boundary with Pakistan?

- .--
Choose the most appropriate answer from the

options given below: l?'l
(A)  Churu (HE:‘] Bhilwara
(C) Bikaner (N ¥ Pali
(E)  Question not '1tlr:nlplml
frefafEd § e s Ea-m 87 wfemm *
T 79 S g Fa ey
Frefafad fawedi & 4 waffis suge s 9
A T' (B)- CiIRCIE
(C) =R (), Treft
(E) SWE w5 O
0

Which of the following fegions is located in the
southern most part of R'l_]:mlhan"

Choose the mast appmpn’am answer from the
opuons given below:

(A) Ajmer (B) Rajsamand
(C) Churu ([lr\ Banswara
(E) Question not anempted

F'mar@an"*ﬁ-mmrm?ma?mzﬁwﬁm

7 fem e
mmmﬁﬁfiﬁma_f@fﬁugmmgﬁ:
(A) I (BYY T=EHT
© IF (D) =igaTeT
(E) dica va

™~

In which of the followingseasons Raikas follow
cultivation practice in thédirtife?
Choose the most appmpr}are answer from the

options given below: 0

(A) Winter (|

(B) Throughout the yedD

(C) Monsoon

(D) Summer -~

(E) Question not allcnq‘pu.d

T 3799 SfiEA O dl fiatataa § § fra wg
& & o

Freafetfiaa faeedi 7 4 7] mmgﬁ
(A) b 5‘

(C) #EEd (Q_D Iﬁ“[

(E) eraita a4

orQ-xi12 [:|

117

118

Banjaras, a well-known group of graziers were
found in the villages qf-
Choose the mosf apﬁ?:lprimc answer from the

aptions given below: o

(A) Goaand Mahafashira

(B) Karnataka and E(\émla

(C) Rajasthan and Gilar Pradesh
(D) Assam and Nagaland

(E) Question not al;\mptcd

m@m@m@m?m F
maidgreemaa N

(A)  Tiar S mEme
(B) @ATEEH aﬂt%«—ro
(C) TeTeaT 3T I [g.%zr
(D) 3|9 S ATTCS,|
(E) mfmya O
= N
N
Pastoralists/shepherds-primarily depend on which

of the following activytigs for their livelihood?
Choose the most appropriate answer from the

options given below: [™

(A) Animal Husba@p
(B) Fishing N
(C) Agriculture N
N
(D) Industrial workC
(E) Question not at%npled

YRifereza/ ngftqg‘rﬁm TR "
smsfifae & foe frgfnfae @ @ e ot finlt

wEH C’
ﬁmf‘aﬁaaﬁmqqqafﬁmmmgq
(A) 9YETEH RI;) TSl TheAT
(€ Ty QD) s @
(E) orguita v
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119 Match List-1 with List-1I ; 121 Vijaya Stambh (Chittorgarh, Rajasthan) is a 9 |
toricd pillar made of:
List-I List-11 stanied p ;
Choose the most appropriate answer from the
Ornaments Wearing Part aptions given helows:
Thussi I. Finger (A) Only Black Stone
Only Red Stone
b.  Borl . E (B) ,
ore o (C) Red Sandstone and White Marble
c.  Daamna M. Neck (D) Red Marble and White Sandstone
d. Jhaale IV. Hecad (E)  Question not attempted
T 13 gra g5 11 7 e e ; 9qﬁw"ﬁ?ﬂﬂ7ﬁ7ﬂmtﬁ=ﬁzﬂ7mm)
fFog a1 7
T K frfafae fasedl § 4 Faifas Iugw 297 4.
e qg T 3T (A) FAc Frel 9oaT,
a = L SiTEf (B) FOERIFER =~
- Tt AT IeAT AN g ST
b. awem L =M ©) btk gt
(D) T HTHTL AT B AT T
C. TEAl momI. T&r (E) :ﬂ‘iﬂ'ﬁ.‘r‘lﬂa
d. @ v, f&w

Choose the most appropriate answer from the 122 In which month the festival of Gangaur is

. . organized?

options given below: - Choose the most appropriate answer from the
iﬁﬁqrrqu‘?ﬁ@ryafﬁiﬁmgmmﬂi; * options given below:
(A) a-IV,b-II,c-II,d-I , (A) Baisakh (B) Shravan

(C) Falgun (D) Chaitra
@) a=Lb-Ule-I.d-1V (E; Quf:ion not attempted
(C) a-Lb-ILc-OLd-IV TR o CER 1 SIS 69 AT 7 2T 82
(D) a-MLb-IV,c-Ld-II Frefaran fasedt 7 & waifis sugw 391 94:
(E) Question not attempted / SATAT IH (A) @ (B) &m0

- (C) WM (D) ==
(E) SIuf@wz

120 ‘Mandana’ is a traditional folk art of :
123 ‘Talab-e-Shahi’ lake is located in which of the

Choose the most appropriate answer from the _
following regions of Rajasthan?

options given below: Choose the most appropriate answer from the
(A) Goa (B) Maharashtra options given below:
(C) Rajasthan (D) Kerala (A) Jaipur (B) Dholpur
) (C) Udaipur (D) Kota
(E_) Quesnclm not :?nempted (E)  Question not attempted
“HTEAT U TYie: o FT &: frafafeaa 7 & feg & & weem & aemE-T-
Prferfia foredt i & watirs Jugw IvCT: e et e &2
R ®) mEUT S - Frefafa fawedt # & waifie 3ogw s
. _'E'" Z (A) AR (B) HieT
(C) TSEEH (D) FAH (C) =g (D) HRT
(E) Gigﬁﬁﬂyﬂ (E) :ﬂﬂﬂf(ﬂ'ﬂﬂ'

OPQ-X12] D 26 [ Contd...
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Q it venture of

Do
WA Y l\‘ o\\ o .‘\ \“‘,\\

R *W answer thom the

QOTNER wven Nalow N
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133 “Reshmiva Godul Mis:gx\'%f is associated with:
Chooss the moxr eppqupriate answer from the
opdons given belows &
(A} Muimistry of Finance
(BY  AMlinisoy of Fi:tg"ics. Animal Hushandry
and Daining &
(©)  Alinisoy of.\lsg‘é
(D) Ministry of Wonteg and Child Development
(E)  Quesuonnat an%ptcd
TR e e R d
P freesi 3 @ Raifires Tuge STOgH:
(A) Fadmem N
(B) W& WIeH, “‘3“\% SHELHEEIR L]
(€) W § |
(D) =fEe @ T l‘?ﬁu LEISE]
(E) JFERAss O
OPQ-X12) D
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What is the least number which should be added
to 292X 5o that the resulting number is exactly
divisible by 3,4, <=Jmu 6?
'fim\qmmﬁn’tﬂvmamwmﬁ'
qftomsf e 3, g, sqht 6 & ot Fnire 7

(A) 8§ :\J ("
(©) 2 oy (D7

() Question notatempted / ST 94

202

-t

I‘I

What is the v:.nnll&f five digit number which is

exactly divisible b?' 16 20 and 247

mmﬁﬁmmmsﬁm 20324 ¥

SNV

(A) 10060 :: (B) 10080

(©) 10160 3 (D) 10800

(E)  Question not attemnpted / Gﬂﬂﬁﬁ'ﬂﬂ'
}"'-‘

Determine the nm'.é;'jnum possible length of the
planks that can be ¢uj from three pieces of timber
measuring 4.2 m, [19 m and 6.3 m, all of which
should be of equa'l lcnnth

Toal it aﬁiﬁmtr'ew Ty g i, afg
4.270, 4.9, 3 6.3 i T TRt F i TwSi
T TRATS 3 TG o e ST &

(\) 63em (r‘hm:::% (B) 70 cm ()

=)
(©)  42em @] (D) 56 cm (&)
(E)  Question not uttempud / TR
™
(&)

A ﬁhuph:cpcr purchnses some apples at 41 for
T 100. How many apples for T 60 should be sold
1o gain 64967 > .
T THAER A 5 89 T 100 ¥ 41 F 9§ @il
v T R ¥ R R T 60 et 3 vy
e \

™
A) 14 i_"‘i B) 15
©) 12 ™N D) 13
(E) Question not‘ﬁucmpted / 3t w
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130 On sclling an article for T 230, n shopkegpe?
cams a profit of 15%, What is his profit or losss
percentage if he sells the same article for X -m}?
(A) 10% profit
(B) 2% loss
(C) 5% profit -
(D) 7% loss '
(E) Question nol attempied .

T TR T I 230 F F9 T CE FFAGR 1S

I FHETAT 81 973 TE I TEg B T 210 '&ﬁ?ﬁuﬁ.
1 IHHT A A B Wi = ¥ -
(A) 10% T

(B) 2% THEH

(C) 5%em

(D) 7%THEH

(E) 37aia s -

A shopkeeper gives a discount of 8% to his
customers and still gains 20%. What is the ma:kéd :
price of the article whose cost price is < 460? el
T THATR 3 3 ATEH il 8% i e o )
T 20% 1 T FHAET I g o S [ AT |
& o T T 460 7

(A) <580 (B) 550

(©) %600 (D) T 660

(E) Question not attempted / Gﬂ?lﬁ'd'ﬂ’;-l
Find a single discount equivalent lo successive
discounts of 10%, 20% and 25%.

10%, 20% 7R 25% i 7T P & T Uhel T2
g Fifag
(A) 46% (B) 48%
(C) 55% (D) 54%
(E)  Question not attempted / 3TJAfa ¥4
28

oPQ-x12] 7]

(RA)

1134

135

(A

|

clection between two candidates, 2, [
In mn
. st their votes and 120 votes we,,
yvolers die not € o
eelared invalid. If the winner gets 75% of |
dee |
lid votes and wins hy o margin of 1800 ol |
Vil
(hen lind the number of voters in the voting list i
I

a}:{umyaﬁmmwnzo%wﬁ
mzﬂzmqm&ﬁlzna’tzmﬂﬁﬂﬁmm \
uﬁmquaﬁzﬁmvs%ﬁr—m?aﬂmmsm |
v 3 ey fvr e &, Ty e A v |

1 i T |
(A) 4650 (B) 4680 I'
(C) 4500 (D) 4590 1

(E) Question not attempted /a-‘la?lﬂ’cr;ra-

On simple interest a certain sum becomes < 9300
in 3 years and 10, 500 in 5 years. The principal |
sum (in ) is:

e =TS o e e i 3 Wi 4 T 9300 3k
5TuTH T 10,500 B STl B1 e whr (3 ) &

(A) 7500 (B) 7800
(C) 7000 (D) 7200
(E)  Question not attempted / 7T ¥

In how many years a certain sum of money will
become four times of itself on simple interest ata

rate of 20% per annum?

15 Years (B) 20 Years
(C) 10 Years (D) 12 Years
(E) Question not attempted
et =t 3 ek Fafdre werafr 2004 s A
SIS 3 JUR = = B i
(A) 15ad (B) 20§
© 103 D) 123
(E) orqafmuy
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Which of the following National parks is situnted®)

in Rajasthan? <Ll
Choose the most appropriate answer from the | .
options given below:
(A)  Keoladev (3)  Kaozirangn -
(C) Bandipur (D)  Sant Ghati
(E)  Question not atlempled
PreferRar & & .87 T T T R
-ﬁ-‘) . -
Fraferfiae et @ et Svgw g |
(A) FacRd (B)  SISITET i
(C) =iy (D) wauEl
(B) ST v
In 1800 A.D., the first person lo call present -
Rajasthan region Rajputana was, :
Choose the most appropriate answer from the,
options given below:
(A) Hackett
(B) Allchin
(C) George Thomas
(D) James Tod
(E) Question not attempted
1800 Serdft & 311 2 TSTEAT oAl TSIYEHAT e Tt
oy fh A _
Frerferfia fasredl § & watfirs Iugw SaUTA:
S (A) T

(B) 3ffefeA
(C) TSt 9T
(D) e
(E) gaiawyg

29

A=

Which movement was led by Sadhu Sitaram
Das?
Choose the most appropriate answer from the

options given helow:

(A) DBhagat

(B) Non-cooperation

(C) Bijolia

(D) Shekhawali

(E) Question not attempted

AT W & 7 R Stiee @ e fehaT?
frfefiaa Rreredt § & gaffires 3ug STC T
(A) -

(B) eT@Eam

() ferferar

(D) T@ERt

(E) HIaRa

In western Rajasthan hot dry and dusty winds

start blowing in summers which are known as

Choose the most appropriate answer from the

options given below:

(A) Loo
(B) Monsoon winds
(C) Kaal Vaishakh
(D) Mavath
(E) Question not attempted
fterdy e ey g F - ST 9 Wl
Tt =T g el & < el &
' frefafan et & waffis Iugw ST
(A T
(B) T €0
(C) =T
(D) WES
(E) Irgaf@wa
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Which of the following river in Rajasthan is not
associated with the Bay of Bengal drainage
system?

Choose the most appropriate answer from the
options given bclowN

(A) Banas o ~(B) Banganga
(€) Chambal D) Luni
(E)  Question not gittmpted

T 8 7§ 8 - 72 S 1w sty
o o wefuw &y O

(A) =9 ~(B) =T
(C) St OD)
(E) Sifuiaws o

) 0
Which of the following animal product contains
the highest amount (Q%inutrients) of protein?
Choose the most appropriate answer from the

options given below:

(A) Fish ™~B) Meat
(C) Milk (Cow) (D) Egg
(E) Question not mpted )

ﬁw%%aqﬁﬁm?gmﬁuﬁrﬁaﬁzﬁw
qm(%maaja‘@“ﬁ%v

ﬁnﬁr@aﬁﬁﬁﬁé‘yﬁféﬂvwmaﬁ
(A) waT O®)  wia (i)
(©) Taem) (D) s
FIARTIA [~
¢4

Which of the folloufi;?g animal product contains

the highest amount 31!01' nutrients) of fat?

Choose the most appropriate answer from the
LI

options given belowp, 4

(A) " Egg {(B) Meat
(C) Fish (D) Milk (Cow)
(E) Question not fttcmpted

Frefafaa & & fragay) sce § ar & waifos
AT (% U9 aed) Bhe?

ﬁﬁ%@ﬁﬁaﬁﬁ%hﬁﬁﬁmmiﬁ
(A) 3T "(B) g (fi2)
(©) ot gjj(n) 3 (1)

(E) suf@wa -

OPQ-X12] D
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143

144

145

Which one of the following Italian honey bee

varicty is associated with increase in yielg of
I~

honey? J
Choose the most appmpriarc answer from the

options given bcInM

A. florae

(A) A cerand
(C) A melliferan, (D) A dorsata
(E) Question ndtattempted
frefufas o & sefera Tamret it A vy
2 % arfire IeaTaT © Helfe 87
Pt e A s s e
(A) T HT C‘..l (B) T AT
() u i ({::i (D) T SrawEr
(E) Sy

Q

The ratio of the present agesof Pand Qis5: 7. 1f
Q is 4 years oldef than P, then what will be the

ratio of their ages after 4 years?

P 37 Q ST FETH G I AWM 5 : 7 R1 AR Q, P
%43&@%,%4%%3?@34@%3@?{@

(A) 7:9 Q B) 4:5

© 3:4 (D) 8:11

(E) Question n&(t:itttempted / ST 95
('

A sum of T 2400 {&Mivided between A and B is
such a way that %IIOF A’s share and % of B's

share are equal. Tlizkshare of B is:
T 2400 F1 A 31X B3 T 39 W A ST R R
A% 3 fow, B 3 2. fired o 1 B o e

2 ™~
0
(A) T480
(B) <800 8
O
(C) T 960 Q
(D) T1440
(E)  Question ndtditempted / STfa war
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numbers 6, 8, 12 and 20, so that the resulting

numbers are in proportion?
6. 8, 12 3T 20 Wl A A MA-4) den werd s
=nfe, o afomd dend warem 3 8

(AY 3 :
B 1
< 2
(D) 4
(E)  Question not attempted / 37T 94
147 Where is the ‘*Tripura Sundari Temple® in
Rajasthan located?
Choose the mast appropriate answer from the
options given below:
(A) Sikar (B) Bikaner
(C) Banswara (D) Churu
(E) Question not attempted
frefefaa fawedt § & Gaffire Iugw ST IA:
(A) &R (B) iR
(C) @rHaTsT (D) I&
(E) ag'aﬁ?rsr% '
148 Gogaji's (a folk deity in Rajasthan) father's name
was:
Choose the most appropriate answer from the
options given below: .
(A) AganSingh (B) Surjan Singh
(C) Bachehal Singh (D) Zewar Singh
(E) Question nol attempted
TS (OTEdT o U s <aen) & fuarstt & Aam
qr:
Frferfi et § @ warifir suge SwU T
(A) 3 fHg (B) gwm
(C) =eew fHw (D) Wt fue
(B) erqafe g
0PQ-X12) D

Brase. . .

149

150

Who was the first woman from Rajasthan to be

arrested  during  the  freedom  movement in
Rajasthan?
Choose the most appropriate answer from the

options given below:.

(A) Janki Devi Pandey

(B)  Anjna Devi Choudhary

(C) Sita Devi

(D) Durgavati Devi

(E) Question not attempted

[T § Tear fferer & Sr e g aret
TrET <l S AfEer i ot

Prfafiaa foeedt 3 & walfire Juge 90T
(A) SR F iR

(B) et =l

(C) wdraredt

(D) gvﬁa?ﬁ%a”r

(E) Tgafea w

Which constituent of Henna dye forms a red
colored compound upon exposure to air or
sunlight?

Choose the most appropriate answer from the

options given below:

(A) Lawsone
(B) Ammonium Chloride
(C) Quinone
(D) Nephthoquinone
(E) Question not attempted
et (St o1 -9 ST9HE 1Y AT {E & THW K
Heh ¥ 37T U T 1 A a8
fereiferfiaa P & wrrtfires g SCH:
(A) & GG LLER L ERITES
() Fa= (D) AeifdEE
(E) i go
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